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1,376,200,000& = 50% 688, 100
= 344,050
& 103,215
Al 240,835
AME ZSE6F UK (KA 150,000 150,000 0
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SHALST)
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Al 19,018
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& 95,090
Al 19,018
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OsdE 28 XNEHH ESAE
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Os4AtE AE3SH DBt E ALY 60,200
= 43,000
Al 17,200
IIZC AN (EX)(HEH 38,572 47,010 A8,438
= 22,143
Al 16,429
307 212t0| & 30,000 47,010 A 17,010
=} 15,000
Al 15,000
02 DIZHB AAIE E X 30,000 47,010 A 17,010
O2Z S XA MAAH DHFEES XA 30,000
& 15,000
Al 15,000
402 It X201 & 8,572 0 8,572
& 7,143
Al 1,429
02 CIZIXIEAIS EX (0| THL) 8,572 0 8,572
OREZE ARD2 HEGIRA XIR(7,143,000
2 «2= *60%) 8,572
& 7,143
Al 1,429
2UIZC XAMNA(EX) 11,340 0 11,340
= 4,860
Al 6,480
307 2Iz2to| A 11,340 0 11,340
= 4,860
Al 6,480
02 QIZFAAAIE E X 11,340 0 11,340
Ozds st AT
603] 135,000 *2JH A x70% 11,340
&< 4,860
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O&LAIAE S22l 1,200
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< 120,125
Al 280,289
12 JIEtE4 3 400,414 1,198,780 A798,366
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Al 14,700
307 21201 A 21,000 21,000 0
< 6,300
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04 JIZHHZ2Z2XNHESE S+ 265,960 203,607 62,353
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SEEIOt2 X+ 2el
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600,000& x5& 3,000
OslEde 23 clZ2d & HEZ MH
4,000,000 =14 4,000
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OslEdel 23 =M 224 Aldl
8,000& x15% x502] 6,000
OF=we Za MY 2% 2Y
250,000 x6H 23| 3,000
Ozt&a HoEgs & 340E3 7¢
2,000,000& » 14 2,000
OslEde Reddl ==& 300,000& 1228 3,600
02 =224l 230,592 203,400 27,192
OsiEdel AZAE RAHEs=2
230,000 204 A %12 5,520
OdlEdel &3, SRS
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OoclEde IHEN MAEE It
20,000,000& x13] 20,000
OF=ABNT FLE bgs 7
8203 *90L* 150 x2 = 22,140
Ooledel 2els HEs 2
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OF=®e WY A2 PY
1,360& *1,200L 1,632
202 odl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OolEdte L sEYe 243E I8 HXIO
2 50,000& x5 203 5,000
206 M= Hl 85,200 91,500 A 6,300
01 =8l 85,200 91,500 A 6,300
OslEdel =378 & SN2
7,500,000 »43| 30,000
OolEde MEE 3ty ds22 HE 2L
3,000,000& x63| 18,000
Os=22e HES 2 N 7
3,000,000 *43| 12,000
Ooslsdel E=8H ¢ 3,000& *1,600% 4,800
Osisdel & ¢ 7,000& *1,800%£ 12,600
OslE®2 5% S HE P
20,0003 x255 *43| 2,000
ossdel stz ¢ 3,000& x1,600= 4,800
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1,000, 0002 14| 1,000
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01 A& HI 585,068 614,132 A 29,064
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520,000,000& *99.37% 516,724
= 390,000
Al 126,724
03 Al S THHI 3,276 0 3,276
O3 A (&g 1X)
520,000,000& *0.63% 3,276
402 RI2HX=01 M 140,000 0 140,000
< 105,000
Al 35,000
02 QI EAILEZ (OIS ) 140,000 0 140,000
OUHME 433 SEUIAY 140,000
= 105,000
Al 35,000
W==EFMA DBt S 2,395,190 2,311,205 83,985
J| 538,076
< 29,835
Al 1,827,279
B=ERI|BRF 600 900 A 300
201 et 600 900 A 300
01 At 22l 600 900 A 300
O MARSKAY AXEIL 20N M
100, 000& 6% 600
D= MAHT Y 552,000 562,700 A 10,700
402 RI2HX=20l M 552,000 562,700 A 10,700
01 2I2E 2 A B (KM ) 552,000 562,700 A 10,700
ONEZE ZT& MACT X2
16,000& *64,000m" x50% 512,000
O==0t MAEHR XIF 2,000 *40,000m" *50% 40,000
D= A BEAI A 365,000 105,000 260,000
402 RIZ2EXt20l ™ 365,000 105,000 260,000
01 U2 EAILE X (KA ) 365,000 105,000 260,000
Ot S 2FNE XA
7,000, 000& *303 *50% 105,000
Ol tEdE2234AE N
11,000& x29,090.8m" x50% 160,000
Oit= Sl K&
3,500& *57,142.5m" x50% 100,000
DEE =44 XA 615,000 680,000 A 65,000
402 RI2EX20| A 615,000 680,000 A 65,000
01 2IZEXH 2 A B (KM &) 615,000 680,000 A 65,000
Ot U=2R AEAZYO0NH X
26,000,000& *20CH x50% 260,000
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X ZH -
L= B

el

= - 4 14
SA - B .G (3AH) - MBAY - BES %Ei HR=2
Ot DAXAX XS
16,000, 000 *30CH *50% 240,000
Otz Yol Xsg 220 A&
6,000,000 *20CH *50% 60,000
Oz M2Tlaf oler X<
50&! *2,200,000 M x50% 55,000
SEENE MAHT] 50,000 70,000 A 20,000
402 SI2vXH=20| ™ 50,000 70,000 A 20,000
01 SIZEXt2 AFE 2 X (KHAIKH 50,000 70,000 A 20,000
OMLS SE(%8)RE 84 X
2,500 *40,000m* x50% 50,000
WNEDEBEAILS S 165,750 145,000 20,750
J| 66,300
o 29,835
Al 69,615
402 812t XHE0| & 165,750 145,000 20,750
J| 66,300
o= 29,835
Al 69,615
02 SIZEXI2 AL E X (0l & TH 165,750 145,000 20,750
OFTAZtZ DEZE SUs 331,500,000 *x50% 165,750
J| 66,300
= 29,835
Al 69,615
WANMBHACX DB A 493,750 676,250 A 182,500
J| 395,000
Al 98,750
403 XX SHHS K20 & 493,750 676,250 A 182,500
J| 395,000
Al 98,750
02 BI2SHUESXA=2EAEAIS Y 493,750 676,250 A 182,500
OFTAMAI M AR BFAH| (0L 2K 7)) 493,750
J| 395,000
Al 98,750
ESMNSALEHE N (E2Z Ol &) MALAIA 125,690 59,968 65,722
S H3H)
J| 50,276
Al 75,414
402 BI2H X =20l M 125,690 59,968 65,722
J| 50,276
Al 75,414
02 CIZEXIE A EX (0| XM THL) 125,690 59,968 65,722
OSES&S (A )MAA LS U3 125,690
J| 50,276
Al 75,414
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ESASNEEUS N (ESHE(HA, =X, A8 1,500 6,461 24,961
aA2) MUAL EUEH
J| 600
Al 900
402 RI2EXt20l ™ 1,500 6,461 24,961
J| 600
Al 900
02 RIZt X2 AL EZ (OIS ) 1,500 6,461 24,961
OSEXS(HA 4, I)MMALS st
3,000,000& x50% 1,500
J| 600
Al 900
FTALb== AL HIEl=8 & 2tel 25,900 0 25,900
J| 25,900
202 oddl 4,000 0 4,000
J| 4,000
04 = H &t Bl 4,000 0 4,000
OWaF ool &R H= 4,000
Jl| 4,000
307 21201 A 21,900 0 21,900
J| 21,900
02 IZtE S AIHE L 21,900 0 21,900
OFTA It A 22| 8l 2,900
J| 2,900
02020 Dt=AXEIL AAMEIS (D=4t O
g 2 uwx) 19,000
J| 19,000
==L 6,561,148 6,617,840 A 56,692
= 2,847,250
< 464,616
Al 3,249,282
dEsHA= 109,556 163,930 AbB4,374
= 109,556
301 LEHZ 109,556 163,930 Ab4, 374
= 109,556
2 J|IEtE2 &3 109,556 163,930 Nb4,374
Oxezsd A== NEAAMY 109,556
= 109,556
SIBLZXNA(BX) 3,579,440 3,195,440 384,000
= 2,009,000
Al 1,570,440
402 RI2EX201 ™ 3,579,440 3,195,440 384,000
= 2,009,000
Al 1,570,440
01 U2 EALE X (XM MR) 384,000 0 384,000
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O®RJIZHlE XNEAAZ 1,600& 240,000 384,000
02 RIZt 2 AL EZ (OIS ) 3,195,440 3,195,440 0
ORJINEHE NAAL(EX)
1,600& *1,997, 150 3,195,440
= 2,009,000
Al 1,186,440
ELHEHRS (BEX) 1,015,420 1,015,420 0
= 659,814
< 177,803
Al 177,803
402 RIZ2EXt20l ™ 1,015,420 1,015,420 0
= 659,814
< 177,803
Al 177,803
02 RIZE X2 AL EZ (01X ) 1,015,420 1,015,420 0
OELMHEH K& A 1,015,420,000& *100% 1,015,420
= 659,814
= 177,803
Al 177,803
B X2 (XA 436,000 436,000 0
307 21201 A 30,000 30,000 0
02 It S AHE L 30,000 30,000 0
OSHM A2 LU KA
1,000& %60, 0002t OF*50% 30,000
402 RI2FXt20l ™ 406,000 406,000 0
01 212t 2 A E = (RER ) 406,000 406,000 0
Oz etdsgy SEXM X3 A
1,000, 000& *400ha*50% 200,000
OFHBHSAS MAI|IY SO XA
500, 000& *400ha*50% 100,000
SUIBE AFHKY AEX
37,333L+3,000& *50% 56,000
OB (ABs=I)sJ1H NEAE
5,000, 000& »20CH x50% 50,000
HSA=HE LI (EX) 222,523 191,823 30,700
< 66,761
Al 155,762
201 Let24d] 1,129 5,000 A 3,871
< 339
Al 790
02 232gHl 1,129 903 226
Oflgtd RIIsd |54 XNEAAMS 1,129
< 339
Al 790
202 Oddl 2,391 0 2,391
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

721
Al 1,670

01 SLHOYI 2,391 0 2,391

O&etd RII=sg8 54 NS 2,391
721
Al 1,670

H

301 LEIENZ 219,003 186,823 32,180

,701
Al 163,302

H
o))
>

12IJEEd=s 219,003 186,823 32,180
ZsitE AUEHIE XNEAY

115,090, 000& *100% 115,090
,527
Al 80,563
Ozlgtd RIIsd |4 NAMS 103,913
174
Al 72,739

m
w
=~

H
«

ASBsMEsRE(EX) 204,534 111,360 93,174

61,360
Al 143,174

H

307 21201 & 204,534 111,360 93,174

61,360
Al 143,174

n

o
N
e
S
0
>
Q
HT
P

204,534 111,360 93,174
ssadH OHAE X 204,534

61,360
143,174

O
]
o
oY 0z
Ol
rx
]

=

GAP HEE EATIRE(EX) 60,000 60,000 0
30,000
9,000
21,000

=z N H

201 fEt2E | 20,000 0 20,000
10,000
,000
7,000

=M
w

01 At 2teltl 20,000 0 20,000
OGAP E/E A X2
20,000, 000& *100% 20,000

10,000
,000
7,000

1
r
:
0:
AL

=M
w

w
i
e
e
T
2
oy
~
(@)

,000 40,000 0
20,000
,000
14,000

= N H
o

>

12IIEtE 4= 40,000 40,000 0

0;
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OGAP IS =0t SHE A A AHl XT3 AHY
40,000,000& *100% 40,000
= 20,000
< 6,000
Al 14,000
S A=HE LS (XHA) 8,850 9,000 A 150
202 Odl 2,850 3,000 A 150
01 = LH 4 Hi 2,850 3,000 A 150
Oed=sg 2= Ml (F3AE ) 2,850
301 LEEAS 3,000 3,000 0
09 HALAMHIXI &3 3,000 3,000 0
OrRePse(sY) DSEA
30,000& »23] x50 3,000
307 glz2tol & 3,000 3,000 0
12 Q2o & =] 3,000 3,000 0
Oozed RIlsgy d2u=
100,000& =15 *23| 3,000
I sLUMAIA(E=X) 18,000 18,000 0
= 7,200
Al 10,800
402 RI2EX=201 M 18,000 18,000 0
= 7,200
Al 10,800
02 QI EAILEZ (01X S) 18,000 18,000 0
ORIIsLAM XJ AL 36,000,000 *50% 18,000
= 7,200
Al 10,800
sy AdAIe |RIIEHE N 600,000 600,000 0
301 LA S 600,000 600,000 0
12 JIE 243 600,000 600,000 0
Ozadsgy 4&)|gt RIIZHE XN&
300& *2,000, 000 x100% 600,000
s#Zzste sk X 13,200 26,667 A 13,467
< 3,960
Al 9,240
402 RIZER20| A 13,200 26,667 N 13,467
= 3,960
Al 9,240
02 LA TEALEZ(0IETHR) 13,200 26,667 A 13,467
ostgdstd siM XN& 22,000,000& *60% 13,200
< 3,960
Al 9,240
GAP &l AtHl XI& 50,000 67,500 A 17,500
< 25,000
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©el: HBRSUSY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 25,000
301 LEXZ 50,000 67,500 A 17,500
< 25,000
Al 25,000
12 JE2d = 50,000 67,500 A 17,500
OGAP 21 Z & AtHI XI& 50,000,000 = 100% 50,000
= 25,000
Al 25,000
HEA=sH XA (01H) 90,860 0 90,860
= 31,680
< 17,754
Al 41,426
307 21201 A 90,860 0 90,860
2 31,680
< 17,754
Al 41,426
02 QB AAFEX 90,860 0 90,860
Oz U= 4 XA AL (600,000& *9
N *5Y) 27,500
< 8,250
Al 19,250
OYue Zed set=2 R0l XA
165 * 40,0003 = 120H& =80% 63,360
= 31,680
< 9,504
Al 22,176
HEtdsazE SO NAY 132,765 0 132,765
< 82,978
Al 49,787
402 RIZ2EXt20l ™ 132,765 0 132,765
< 82,978
Al 49,787
02 RIZt 2 AL EZ (OIS ) 132,765 0 132,765
Oz gdsits =02 N3 ALY
165,956,000 *80% 132,765
< 82,978
Al 49,787
JIE=2 EH =5 =& =74 N 20,000 0 20,000
< 20,000
307 21201 A 20,000 0 20,000
< 20,000
02 HAFHAANGFEE 20,000 0 20,000
ONEZEH aid+E 5 234 KB A(
=01 &0 0l &) 20,000
< 20,000
=1 &3 2,557,251 2,875,753 A 318,502
< 1,125,801
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Al 1,431,450
StusA X 2,557,251 2,875,753 A 318,502
< 1,125,801
Al 1,431,450
gugal XNA(EX) 2,384,781 2,626,168 A 241,387
< 1,119,951
Al 1,264,830
307 gl2tol & 14,746 13,862 884
= 4,424
Al 10,322
02 It M AHEE 14,746 13,862 884
OzSZH Aol 24 XEAE 6,380
< 1,914
Al 4,466
O84s sttt RSXNE 8,366
< 2,510
Al 5,856
308 A EHHSOIA 2,370,035 2,468,306 A 98,271
< 1,115,527
Al 1,254,508
08 WSII20HetE = 2,370,035 2,468,306 A 98,271
O EdsitE stug AR ALY 303,076
< 142,620
Al 160,456
Osn 2434 XE(=-5- 1) 2,066,959
< 972,907
Al 1,094,052
st A XIA (KA 82,970 81,250 1,720
201 Let24d] 1,260 1,260 0
01 At 22/l 1,260 1,260 0
OB DIAXY Mol9Hs B2
70,0003 x9&H #23| 1,260
307 21201 A 26,600 18,810 7,790
02 LAFAAFEX 26,600 18,810 7,790
Offetsry Ragal X& 3,500 *40% <190 26,600
308 XX EHSOIA 55,110 61,180 26,070
08 WSIIZ0HetE = 55,110 61,180 A6,070
Ostugal Azt X (771w, 8,306Y) 55,110
SRS 20,000 40,000 220,000
307 glz2+ol & 20,000 40,000 220,000
02 QIZtE M AMHEE 20,000 40,000 220,000
Osnga ZHM X& 40,000,000 *50% 20,000
SSsARENA 50,000 50,000 0
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307 glz2tol & 50,000 50,000 0
02 PIZHEHAHEE 50,000 50,000 0
OEsad IS4 FSXUIAAME
400, 0003 «200! *50% 40,000
OSsa4 T224 Y X8
20,000,000& *50% 10,000
SZS4A g (EX) 19,500 18,200 1,300
< 5,850
Al 13,650
307 gl2tol & 19,500 18,200 1,300
< 5,850
Al 13,650
02 It M AHE L 19,500 18,200 1,300
OSs48 T224 ALY X
130,000& *1502] 19,500
< 5,850
Al 13,650
HAE2AZH (A0 D) 88,292 90,932 A 2,640
JlEZdl 88,292 90,932 A 2,640
JlE2&l 88,292 90,932 A 2,640
201 Let2d] 44,612 44,732 A 120
01 At 221l 44,612 44,732 A 120
O+t 29,000
o=l 8,832
Oosledel Al 60,0002 113 6,780
202 04l 39,480 40,800 A 1,320
01 = LH 4 Hi 25,080 26,400 A 1,320
O3oady 2= 04l 25,080
02 N0 14,400 14,400 0
Oolegel EHNbI 200,000 x6H «128 14,400
203 ¥R =&l 4,200 4,200 0
04 EA2IYRFLH 4,200 4,200 0
ORN2EYRF=AHI 4,200
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